
Year —Revision 13—Dividing by a two-digit number.  

Complete each of the divisions.  

3825 ÷ 45 =  

       

       

       

       

       

       

       

       

3824 ÷ 16 =  

       

       

       

       

       

       

       

       



Year —Revision 13—Dividing by a two-digit number.  

Complete each of the divisions.  

3293 ÷ 37 =  

       

       

       

       

       

       

       

       

5184÷ 64 

       

       

       

       

       

       

       

       


